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Saw Tooth Hat

A free pattern download designed by Kathy Gometz for skacel collection, Inc.

SKILL LEVEL: Intermediate
YARN WEIGHT: Bulky
SIZE AND MATERIALS:

Size One Size

Circumference Approx 20"

1 Ball (60 yds)

Yarn: Color A

Yarn: Color B 1 Ball (60 yds)

Featured Yarn:
Violon by Schulana, 50% Merino Wool, 25% Alpaca, 25% Nylon -
60 yds / 50g. Shown in Color A (#11) & Color B (#12).

addi Needles:
8 mm (approx US 11) 20” circular
8 mm (approx US 11) double points

or size needed to obtain gauge

additional Notions:
Stitch marker, tapestry needle

All yarn and needles distributed by skacel collection, Inc.

GAUGE:
14 sts and 16 rows = 4" x 4" in Saw Tooth Pattern

To save time, check your gauge
and read all instructions thoroughly before beginning.
STITCH PATTERNS:
Corrugated Rib:
All Rnds: *K2 with Color A, P2 with Color B; repeat from * around.

Saw Tooth Pattern: (multiple of 4 sts)
Rnd 1: With Color A knit all sts around.
Rnd 2: *K3 with Color A, k1 with Color B; repeat from * around.
Rnd 3: *K2 with Color A, k2 with Color B; repeat from * around.
Rnd 4: *K1 with Color A, k3 with Color B; repeat from * around.
Rnd 5: With Color B knit all sts around.

INSTRUCTIONS:
Note: Hat is started on 20” circular needle, then moved to double
pointed needles as the stitch count decreases.
With Color A, CO 64 sts and join, placing marker to mark beg of round.
Setup Rnd: *K2 with Color A, k2 with Color B; repeat from * around.
Work Corrugated Rib for 3 rnds.

Work Rnds 1 - 5 of Sawtooth Pattern 5x, then Rnd 1, 2x.
Cut Color B and work rest of hat in Color A.

Decrease for Crown:

Rnd 1: (K2tog, k12, SKP) 4x.

Rnd 2: Knit.

Repeat Dec Rnds 1 & 2, 6x more, working 2 fewer K sts between
decreases each Decrease Rnd, ending with a Rnd 1 = 8 sts.

Cut Color A leaving an 8” tail. Draw tail through remaining sts twice

and then to the inside. Fasten off securely.

FINISHING:
Weave in ends. Block lightly.

ABBREVIATIONS:

approx approximately

CcOo Cast On

dec decrease(s) / decreased / decreasing

k knit

k2tog knit two stitches together

p purl

SKP Slip 1 stitch knit wise, Knit 1, Pass slipped stitch over
stitch just knitted (decreases 1 stitch).

rnd(s) round(s)

st(s) stitch(es)
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